PHYS 606 - Spring 2017 - Homework X - Solution

Problem [1]

$$|a|[L_i, r_j] = \varepsilon_{ike} \left[r_k P_{e}, r_j \right] = \varepsilon_{ike} \left(r_k \left[P_{e}, r_j \right] + \left[r_{k_i} r_j \right] P_{e} \right) = i\hbar \varepsilon_{ijk} r_k$$

$$-i\hbar \delta_{je} = \varepsilon_{ike} \left[r_k \left[P_{e}, P_{j} \right] + \left[r_{k_i} P_{j} \right] P_{e} \right) = i\hbar \varepsilon_{ije} P_{e}$$

$$|L_i, P_j| = \varepsilon_{ike} \left[r_k \left[P_{e}, P_{j} \right] + \left[r_{k_i} P_{j} \right] P_{e} \right) = i\hbar \varepsilon_{ije} R_{e}$$

$$|L_i, K_j| = \left[L_i, \omega_{r_j} - p_j t \right] = i\hbar \varepsilon_{ijk} \left(m_{r_k} - p_k t \right) = i\hbar \varepsilon_{ijk} K_k$$

$$|L_i, K_j| = \left[L_i, \omega_{r_j} - p_j t \right] = i\hbar \varepsilon_{ijk} \left(m_{r_k} - p_k t \right) = i\hbar \varepsilon_{ijk} K_k$$

$$|L_i, K_j| = \left[L_i, \omega_{r_j} - p_j t \right] = i\hbar \varepsilon_{ijk} \left(m_{r_k} - p_k t \right) = i\hbar \varepsilon_{ijk} K_k$$

$$|L_i, K_j| = \left[L_i, \omega_{r_j} - p_j t \right] = i\hbar \varepsilon_{ijk} \left(m_{r_k} - p_k t \right) = i\hbar \varepsilon_{ijk} K_k$$

$$|L_i, K_j| = \left[L_i, \omega_{r_j} - p_j t \right] = i\hbar \varepsilon_{ijk} \left(m_{r_k} - p_k t \right) = i\hbar \varepsilon_{ijk} K_k$$

$$|L_i, K_j| = \left[L_i, \omega_{r_j} - p_j t \right] = i\hbar \varepsilon_{ijk} \left(m_{r_k} - p_k t \right) = i\hbar \varepsilon_{ijk} K_k$$

$$|L_i, K_j| = \left[L_i, \omega_{r_j} - p_j t \right] = i\hbar \varepsilon_{ijk} \left(m_{r_k} - p_k t \right) = i\hbar \varepsilon_{ijk} K_k$$

$$|L_i, K_j| = \left[L_i, \omega_{r_k} - p_k t \right] = i\hbar \varepsilon_{ijk} \left(m_{r_k} - p_k t \right) = i\hbar \varepsilon_{ijk} K_k$$

$$|L_i, K_j| = \left[L_i, \omega_{r_k} - p_k t \right] = i\hbar \varepsilon_{ijk} \left(m_{r_k} - p_k t \right) = i\hbar \varepsilon_{ijk} K_k$$

$$|L_i, K_j| = \left[L_i, \omega_{r_k} - p_k t \right] = i\hbar \varepsilon_{ijk} \left(m_{r_k} - p_k t \right) = i\hbar \varepsilon_{ijk} K_k$$

$$|L_i, K_j| = \left[L_i, \omega_{r_k} - p_k t \right] = i\hbar \varepsilon_{ijk} \left(m_{r_k} - p_k t \right) = i\hbar \varepsilon_{ijk} K_k$$

$$|L_i, K_j| = \left[L_i, \omega_{r_k} - p_k t \right] = i\hbar \varepsilon_{ijk} \left(m_{r_k} - p_k t \right) = i\hbar \varepsilon_{ijk} K_k$$

$$|L_i, K_j| = \left[L_i, \omega_{r_k} - p_k t \right] = i\hbar \varepsilon_{ijk} \left(m_{r_k} - p_k t \right) = i\hbar \varepsilon_{ijk} K_k$$

$$|L_i, K_j| = \left[L_i, \omega_{r_k} - p_k t \right] = i\hbar \varepsilon_{ijk} \left(m_{r_k} - p_k t \right) = i\hbar \varepsilon_{ijk} K_k$$

$$|L_i, K_j| = \left[L_i, \omega_{r_k} - p_k t \right] = i\hbar \varepsilon_{ijk} \left(m_{r_k} - p_k t \right) = i\hbar \varepsilon_{ijk} K_k$$

$$|L_i, K_j| = \left[L_i, \omega_{r_k} - p_k t \right] = i\hbar \varepsilon_{ijk} \left(m_{r_k} - p_k t \right) = i\hbar \varepsilon_{ijk} K_k$$

$$|L_i, K_j| = \left[L_i, \omega_{r_k} - p_k t \right] = i\hbar \varepsilon_{ijk} \left(m_{r_k} - p_k t \right) = i\hbar \varepsilon_{ijk} \left(m_{r_k} - p_k t \right) = i\hbar \varepsilon_{ijk} K_k$$

$$|L_i, K_j| = \left[L_i, \omega_{r_k} - p_k t \right] = i\hbar \varepsilon_{ijk} \left(m_{r_k} - p_k t \right) = i\hbar \varepsilon_{ijk$$

Problem [2]

(a)
$$\langle n'|a|n \rangle = C_n \langle n'|n-1 \rangle = C_n \delta_{n',n-1}$$
 $\forall n,n' \in \mathbb{N}$
 $\langle n'|a^{\dagger}|n \rangle = D_n \delta_{n',n+1}$

T.e. in explicit matrix form

$$a = \begin{pmatrix} 0 & c_1 & 0 & 0 & 0 & 0 & 0 \\ 0 & 0 & c_2 & 0 & 0 & 0 & 0 \\ 0 & 0 & 0 & c_3 & 0 & 0 & 0 \\ 0 & 0 & 0 & 0 & 0 & 0 \end{pmatrix}$$

(b) $|C_n|^2 = |\langle n-1|a|n \rangle|^2 = \langle n|a^{\dagger}|n-1 \rangle \langle n-1|a|n \rangle = \sum_{n' \in \mathbb{N}} \langle n|a^{\dagger}|n' \rangle \langle n'|a|n \rangle$

$$= \langle n|a^{\dagger}a|n \rangle = n$$
 $continuous for n'fn-1 vanish$

$$\Rightarrow C_n = \sqrt{n'} \quad (choose place to be zero)$$

Similarly
$$(2n)^{2} = \left| \langle prt | ot | n \rangle \right|^{2} = \sum_{n \in \mathbb{N}} \langle n | a | n' \rangle \langle n' | at | n \rangle$$

$$= \langle n | aat^{2}(n) \rangle = \langle n | ot a + 2 | n \rangle = n + 1$$

$$\Rightarrow \mathcal{D}_{h} = \langle n + 1 \rangle$$

$$|n\rangle = N_{h}(a^{2})^{h} |0\rangle = N_{h}(n^{2} \cdot 1^{h} \cdot 1^{h} \cdot 1^{h} \cdot 1^{h})$$

$$|n\rangle = \langle n | at^{2}(n^{2})^{h} |0\rangle = N_{h}(n^{2} \cdot 1^{h} \cdot 1^{h} \cdot 1^{h} \cdot 1^{h} \cdot 1^{h})$$

$$|n\rangle = \langle n | at^{2}(n^{2})^{h} |0\rangle = N_{h}(n^{2} \cdot 1^{h} \cdot 1^$$

(f) Use
$$H_{n}(\xi) = (-1)^{n} e^{\frac{\xi^{2}}{d\xi^{n}}} e^{-\frac{\xi^{2}}{2}}$$
 (#WIII, [])

 $H_{n+1}(\xi) = (-1)^{n+1} e^{\frac{\xi^{2}}{d\xi^{n}}} \frac{d^{n}}{(-2\xi)} e^{-\frac{\xi^{2}}{2}} = (-1)^{n+1} e^{\frac{\eta^{2}}{2}} \left(-2n \frac{d^{n-1}}{d\xi^{n-1}} - 2\xi \frac{d^{n}}{d\xi^{n}}\right) e^{-\frac{\xi^{2}}{2}}$
 $= -2n H_{n-1}(\xi) + 2\xi H_{n}(\xi)$ voluth is the relation from (3).

Problem [3]

(a) From
$$X$$
 4 in the lasture notes we already know that the racked equation for $R(r)$ in the case $V(\vec{r}) = 0$ is

$$\begin{bmatrix}
-\frac{t^2}{2m} & \frac{1}{r^2} & \frac{d}{dr} \left(r^2 & \frac{d}{dr}\right) + \frac{R(R+1)h^2}{2mr^2} & R(r) = R(r)
\end{bmatrix}$$
Thirduce $g = \frac{1}{N} \sqrt{kmE} = kr$ with $k = \frac{1}{N} \sqrt{kmE}$ (here eather of the fee particle)

$$\frac{1}{s^2} & \frac{d}{ds} \left(s^2 & \frac{d}{ds}\right) R_0 - \frac{\ell(\ell+1)}{s^2} & R_0 + R_0 = 0$$

$$\Rightarrow \frac{d^2}{ds^2} R + \frac{2}{s} & \frac{dR}{ds} + \left(1 - \frac{\ell(\ell+1)}{s^2}\right) R = 0$$
(b) Ansick $j_{\ell}(s) = \frac{1}{s^2} + \frac{1}{s^2} \left(s + \frac{1}{s^2}\right) = \frac{1}{s^2} \left(s$

Suppose sock known to
$$l^2 = 0$$
. $l^2 = l^2 = l$

